ERRATUM

In Section 1.2, just before Section 1.3, gambles illustrating lower cumulative independence are presented as follows:
A test of lower cumulative independence is illustrated by the following choices:


S:
.10 probability to win $44

R: 
.10 probability to win $98



.10 probability to win $40


.10 probability to win $10



.80 probability to win $2


.80 probability to win $2
and



[image: image1.wmf]:
.20 probability to win $44


[image: image2.wmf]: 
.10 probability to win $98



.80 probability to win $2


.90 probability to win $10

Gamble 
[image: image3.wmf]has been erroneously defined. The lowest consequence in this gamble should be $10 instead of $2.  Gambles S and R have a common branch of .8 to win $2, and this branch has been changed to have a consequence of $10 in both sides of the choice between 
[image: image4.wmf] and 
[image: image5.wmf].  The choice should read:
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.20 probability to win $44


[image: image7.wmf]: 
.10 probability to win $98



.80 probability to win $10


.90 probability to win $10

_1132217123.unknown

_1132217179.unknown

